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QUESTION 1

Which of the following protocols do iSCSI fabrics use to provide discoverability and partitioning of resources? 

A. SCSI 

B. SSL 

C. TLS 

D. iSNS 

Correct Answer: D 

Internet Storage Name Service (iSNS) is a protocol that allows automated discovery, management, and configuration of
iSCSI and Fibre Channel devices (using iFCP gateways) on a TCP/IP network. iSNS provides management services
similar to those found in Fibre Channel networks, allowing a standard IP network to operate in much the same way that
a Fibre Channel storage area network does. Because iSNS is able to emulate Fibre Channel fabric services and
manage both iSCSI and Fibre Channel devices, an iSNS server can be used as a consolidated configuration point for
an entire storage network. 

Incorrect Answers: 

A: Small Computer System Interface (SCSI) is the second most popular drive interface in use today after the Integrated
Drive Electronics (IDE) interface. SCSI is faster than IDE and supports more devices. SCSI devices, such as hard disk
drive and CD-ROM drive, are better suited in a network environment in which many users access shared drives
simultaneously. SCSI has three standards: SCSI-1, SCSI-2, and SCSI-3. 

B: The Secure Sockets Layer (SSL) is a commonly-used protocol for managing the security of a message transmission
on the Internet. SSL has recently been succeeded by Transport Layer Security (TLS), which is based on SSL. SSL uses
a program layer located between the Internet\\'s Hypertext Transfer Protocol (HTTP) and Transport Control Protocol
(TCP) layers. URLs that require an SSL connection start with https: instead of http:. 

C: Transport Layer Security is a standard protocol used to secure Web communications on the Internet or intranets by
means of encryption. With the help of TLS, clients can authenticate servers or servers can authenticate clients. TLS is
the latest version of the Secure Sockets Layer (SSL) protocol. 

 

QUESTION 2

You create a new domain. 

Which two Active Directory objects will be available by default? (Choose two.) 

A. Computer 

B. Employee 

C. User 

D. Device 

E. Server 
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Correct Answer: AC 

An Active Directory structure is an arrangement of information about objects. The objects fall into two broad categories:
resources (e.g., printers) and security principals (user or computer accounts and groups). Security principals are 

assigned unique security identifiers (SIDs). 

Note: 

Install-ADDSDomain installs a new Active Directory domain configuration. 

 

QUESTION 3

One advantage of application virtualization is: 

A. Fewer operating system updates. 

B. Improved collaboration. 

C. Reduced network traffic. 

D. Reduced client administrative overhead. 

Correct Answer: D 

Virtualization is not just for the Fortune 500 anymore. SMBs are rapidly adopting virtualization and achieving significant
benefits in a number of areas. 

 

QUESTION 4

What service replicates information of every object in a tree and forest so that you can quickly find those objects? 

A. LDAP server 

B. global catalog 

C. Infrastructure Master 

D. PDC Emulator 

Correct Answer: B 

A global catalog replicates the information of every object in a tree and forest. However, rather than store the entire
object, it stores just those attributes that are most frequently used in search operations, such as a user\\'s first and last
name, computer name, and so forth. By default, a global catalog is created automatically on the first domain controller in
the forest, but any domain controller can be made into a global catalog. 

 

QUESTION 5

What do you do with a folder that you do not have permissions to and you need to access immediately? 

Latest 98-365 Dumps | 98-365 VCE Dumps | 98-365 Practice Test                                3 / 9

https://www.passapply.com/98-365.html
https://www.passapply.com/98-365.html
https://www.passapply.com/98-365.html


https://www.passapply.com/98-365.html
2024 Latest passapply 98-365 PDF and VCE dumps Download

A. Take Ownership 

B. Reset Permissions 

C. Access Control List 

D. None of the above 

Correct Answer: A 

An object\\'s owner controls how permissions are set on the object and to whom permissions are granted. If for some
reason you have been denied access to a file or folder, you need to reset the permissions by taking ownership of the file
or 

folder and modifying the permissions. 

All administrators automatically have the Take Ownership permission of all NTFS objects. 

 

QUESTION 6

You work as a System Administrator for company Inc. You have deployed a workstation and roll it out to production, but
you find some issues with the video display. 

The display worked in the beginning when you first set up the system. The video has degraded to standard VGA
640x800 and its performance is badly affected after applying several system and driver updates. 

What is the most likely cause of this issue? 

A. The video adapter is not properly placed on the system board. 

B. The video card is not enabled on the system. 

C. You need to upgrade RAM according to the video driver. 

D. You have installed an unsigned video driver. 

Correct Answer: D 

In the given scenario, the video problem occurred because of the installation of an unsigned video driver. For better
performance, you should always use a device driver that is signed by Microsoft. Unsigned drivers are not compatible
with all 

systems. They may be poorly written and may include viruses or malware. 

Incorrect Answers: 

A, B: If the video adapter is not properly placed on the system board or the video card is not enabled, you do not get the
video clip in the beginning when you first set up the system. 

C: It is not required to upgrade RAM. 

 

QUESTION 7
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To change the boot device order of a computer, you should use: 

A. Device Manager. 

B. Disk Management. 

C. BIOS settings. 

D. Computer Policy. 

Correct Answer: C 

Example: Change the Boot Order in BIOS 

Turn on or restart your computer and watch for a message during the POST about a particular key, usually Del or F2,
that you\\'ll need to press to ...enter SETUP. Press this key as soon as you see the message. 

 

QUESTION 8

Which of the following statements are true about a device driver? Each correct answer represents a complete solution.
Choose all that apply. 

A. Device drivers are software-dependent and do not depend on operating systems. 

B. It allows higher-level computer programs to interact with a hardware device. 

C. It is a program or software that controls a particular device. 

D. It works as a translator between the device and the operating system and programs that use the device. 

Correct Answer: BCD 

A device driver is a program or software that controls a particular device. It works as a translator between the device
and the operating system and programs that use the device. It provides an interface between a hardware device and 

operating systems and application software. 

It allows higher-level computer programs to interact with a hardware device. When an application needs data from a
device, it requests the data from OS, which in turn, send a command request to the device driver. Drivers are hardware-

dependent and operating-system-specific. They usually provide the interrupt handling required for any necessary
asynchronous time-dependent hardware interface. 

 

QUESTION 9

Which of the following is a command-line tool that is used to describe the boot application and boot application settings
such as the boot menu? 

A. DrvLoad 

B. BootSect 

C. BCDBoot 
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D. BCDEdit 

Correct Answer: D 

BCDEdit is a command-line tool that is used for managing the BCD Store. 

It is used to describe the boot application and boot application settings such as the boot menu. 

Incorrect Answers: 

A: DrvLoad is used for adding out-of-box drivers. 

B: BootSect is used for restoring the boot sector on a computer. 

C: BCDBoot is used for quickly setting up a system partition. 

 

QUESTION 10

You work as a System Administrator in SunInfo Inc. The company uses System Center Data Protection Manager 2012
R2 for data protection. 

You want to protect data that is part of a Distributed File System (DFS) namespace hierarchy. 

How will you select file shares for effective protection in this scenario? 

A. By their server-specific local paths. 

B. Through DNS namespace. 

C. Through DFS namespace paths. 

D. By selecting multiple targets. 

Correct Answer: A 

You can protect data in a Distributed File System (DFS) namespace hierarchy using DPM. However, you cannot select
file shares for protection through their DFS namespace paths. You can select shares for protection by their server-
specific local paths. 

Incorrect Answers: 

B: The Domain Name System (DNS) is a hierarchical naming system for computers, services, or any resource
connected to the Internet or a private network. 

C: DPM does not provide protection of shares through DFS namespace paths. 

D: For effectively protecting data, if your namespace includes links or roots that have multiple targets with the same
data, you should protect only one target. 

 

QUESTION 11

Which task is executed during the Power-On Self Test (POST)? 
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A. The amount of system RAM is detected. 

B. The Master Boot Record is created. 

C. The operating system is initialized. 

D. Disk file systems are detected. 

Correct Answer: A 

 

QUESTION 12

Disk striping occurs when data is: 

A. Duplicated on separate disks 

B. Duplicated on the same disk 

C. Shared between disks 

D. Written across multiple disks 

Correct Answer: D 

 

QUESTION 13

You are working on a system with Windows Server 2016 installed on it. Many services and applications automatically
start running when you start the system. 

You want to remove the services and applications that are not required to run. 

Which of the following will you use to accomplish the task? 

A. Msinfo32.exe 

B. Gpresult.exe 

C. msconfig.exe 

D. gpedit.msc 

Correct Answer: C 

In order to accomplish the task, you should use msconfig.exe. It is used to select and deselect the services and
applications that automatically start running when the system is started. 

 

QUESTION 14

You work as a Server Administrator for company Inc. The company has a Windows Server 2016 based network
environment. There is a domain controller with Windows Server 2016 installed on it. 
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You want to install the Hyper-V role for production server consolidation and business continuity management. 

Which of the following are the prerequisites for installing the Hyper-V role? Each correct answer represents a complete
solution. (Choose three.) 

A. x32-based processor 

B. GUI accelerator 

C. Hardware-assisted virtualization 

D. Hardware-enforced Data Execution Prevention 

E. x64-based processor 

Correct Answer: CDE 

The prerequisites for installing the Hyper-V role are as follows: 

An x64-based processor: Hyper-V is available in x64-based versions of Windows Server 2016 - specifically, the
x64-based versions of Windows Server 2016 Enterprise, Windows Server 2016 Datacenter, and Windows Server 2016
Standard. 

Hardware-enforced Data Execution Prevention (DEP): This should be both available and enabled. Specifically, a user
should enable the Intel XD bit (execute disable bit) or AMD NX bit (no execute bit). Hardware-assisted virtualization: It
is 

available in processors that include a virtualization option - particularly, Intel Virtualization Technology (Intel VT) or AMD
Virtualization (AMD-V). 

Incorrect Answers: 

A, B: These are not prerequisites for installing Hyper-V. 

 

QUESTION 15

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point. 

Hot Area:  
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Correct Answer: 
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